HE(SBAT SHEATEHE (KRN T 255E AHBXZMTMmAES (HH5D
1. BRWEHHY— - CORE L
XL |remnmrussz REtaRuEse @ ) | SEBEF| BREBASTIOHNE K6 | XS KB (BBNL) BEIE UL B E
(1) SEEE (3) BEOZLMTH T . BT
ER DARBEESDZLM (FROTINEIEEH) [OT 1]

DF=E -
- RoiXI3, BRMEEIOREBEEE TYBHROICI&T D, WOF
BVDORIBERHETH D,

- SZABETIRBES50mM. FHEYES4EOBIEFRBETHO. NWIEH
MICLL<BOHN. BEZRBE CRINRRZBREEOZCNEELTND,

- RENKXEICE, WG ETE TOEBEREE /S8 0T 0HENE
O52S#RDIEN. KEBIBMNAEFE L. SZNENFHRRUCHSICIIEX
BWEERFT CENFERSN. ZOXRDBIB THD.

QERER - MR

OFEEE OEBRNOEEDHLE
CBEDSERE. BEE. KERLOBRE | 1452108 X
C AR—P Y OWESHLE | 445 00/F =398 HM/BP L ¥
CSERBE NS | &
CREE (ARTP.
FBNHIESR | S TY0HERE10522L=158m)
I Jit=5E
O8IkEE -
O8RME -

(2) BRABCERE
OEENS

- EHREETI=130m H=50m - ZHEHEMIL=130m H=20m
OEEHE THR26FE~TR29FE
Biiswsy 18085

(EE85.58HM4.75/10), RE8558/HM4.75/10). BJ9EHMO0.5/10)

- EBERETLA=-650n

@FKEE (FERIZERERAS) (B%FE)
ER26FE MAIS. MERE. 5FilERE 2085583
ER2T7ERE migs. MBS - siE. (EHREE) I3 808/5M
EH28FEE (BEHNMEE - ZOER - ZERE I3 4085HH8
ER2OFEE (EHNEEE - ZOMER - Z0RE) I3 408HH

ORRBEAE - Hif - BXE

IEENS ABHR (BEEF SO =114m
(SB5: L=47m. H=50m S56 : L=67m. H=4.5m)
- BAfS S55~556

- BEE 3587H0MH (855 : 16870M. S56 : 19873M)

- RIERESEA2RICK D, TEOMTD S ENEE,

OEHENTERDOEZLYE (ROFTINED)
- RIERHES 1 2RICKD, BOMT DT EN'ZS,
O FEZM
EREEE @m (B) /B8R (C)= 1.8 > 1.0
- @5 (B) =30687HM. - &M (C) =16987HH

[OT ]

[OT ]

@EERM - MBEOZHM
- RIKREZER L. MERINROREE UL,

GEBEFHEDEMM [O T ]
- 1 - hBIKRD SREMRY - FFNSRTEE UL,
CORESFADER [OT 1]
RIESES. BEARICRET 3.

QELHBEORE [OT 1

- WRBECEDNTRD., HEORPRIEIESNTID,

& 5V i [BEES YD al | O | |
(ESXRUENF)
KA (RIER)
1150, 000

0 1000 2000  3000n
I I ]




BBy —

2.

i —==

T

@: HERR GER)

I E T B

] BanE

L1 renswms

EEom] 485 0 S wE

I ER

D G R N e R G o

~ EEEAEES

B i T e

] iRk

e I ——

Eoe] tesEsalemEa

I =

E R ol B

a1t
s

Wk

Ciil
R

%

]
|
1
/ 1
/ 1
/ 1
1
. |
)
! |
y 1
~ 1
. “
w 1
y 1
) 1
f [ ]
\\ f ——
\
4
\ I
~N — \—
: {
k ]
14 \ :
\ I ﬁ —
\ | —
/// W —— “
/// MM —/ —
Y ) / ——
_ - =
N 7
T
i
: |
1o e
B
Kz
2

\ (WGEY H)WOG= H & H LGk




